Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I (CtoD) « EXAMINATION - WINTER « 2014

Subject Code: C300006 Date: 31-12-2014
Subject Name: Engineering Chemistry - (Group - 2)
Time: 10:30 am — 12:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
What is the unit of specific conductivity?
1. |A. | Ohmcm B. | onmtcm®
C. |Ohmcm™ D. | Cmohm™
From the following which is not affect on rate of corrosion?
2. | A. | pHofsolution B. | Temperature
C. | Dilution of solution D. | Moisture
In which media metal gets more corrosive?
3. | A | Acidic B. | Alkaline
C. | Neutral D. | All of these
Which substance can decreases the cathodic reduction of oxygen on addition to the
4 corrodising liquid media?
" | A. | Organic inhibitor B. | Cathodic inhibitor
C. | Anodic inhibitor D. | All of these
Corrosion is an example of which type of reaction?
5. | A. | Oxidation B. | Reduction
C. | Photovoltaic effect D. | Overleaping
In galvenising which metal is used as protective coating?
6. |A. |Sb B. |Pb
C. |Zn D. | Au
Grease is an example of which type of lubricants?
7. | A. | Soid B. | Semisolid
C. | Liquid D. | Synthetic lubricant
Which substance is used to reduce frictional resistance between moving surface of
8 machine parts?
" | A. | Catalyst B. | Insulating material
C. | Lubricants D. | Resins
What is corrosion?
9. | A. | Decay of corrosion B. | Proction of corrosion
C. |BothA&B D. | None
emf of battery is expressed in which unit ?
10. | A. | Volt B. | Watt
C. | Faraday D. | Ampere
Decomposition of H,0; is slowed down by adding H3PO4 is example of
11 Catalyst.
" | A. | Positive B. | Negative
C. | Auto D. | None
Which substance is used in vulcanisation of rubber ?
12. A [ Zinc B. | Sulphur
C. | Phosphorous D. | Silicon
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In tinning which metal is used as protective coating on iron ?

13. |A. | Sn B. | Zn
C. |Au D. |Ag
The octane number of petrol is

14. | A. | 25-30 B. | 50-60
C. | 60-70 D. |80-90
Which type of bond form the following is obtain by combination of ions of electro

15 positive and electro negative?

| A. | lonic B. | Covalent
C. | Co-ordinate covalent D. | Metallic
Property of an oil to stick on the surface of machine is called

16. | A. | Oilness B. | Viscosity
C. | Acid value D. | Emulsion
Which material is used as an ideal packing material for delicate electronicals ?

17. | A. | Rubber B. | PVC
C. | Thermocole D. | Bakelite
From the following which is not suitable for good fuel.?

18. | A. | High calorific value B. | Low content of moisture
C. | Easy to transport D. | Very costly
Which type of substance inhibit the reactivity of catalyst?

19. | A. | Positive catalyst B. | Negative catalyst
C. | Auto catalyst D. | None of these
Which device convert chemical energy into electrical energy ?

20. | A. | Battery B. | Lead storage cell
C. | Solar cell D. |BothA&B
Which solution is used in fuel cell ?

21. | A. | HCL B. | H,SO4
C. | HNOs; D. | NaOH
Which type of substance have extremely low thermal conductivity , which retard the

99 loss of heat ?

" | A. | Catalyst B. | Insulating material
C. | Refrectories D. | Lubricants
Bakelite is obtain by the reaction between Phenol and

23. | A. | Chlorobenzene B. | Acetal
C. | Acetaldehyde D. | Formaldehyde
The total quantity of heat liberated , when a unit mass of fuel is burnt completely, is

24 known as.....

" | A. | Calorific value B. | Cetane number
C. | Octane number D. | Bio-diesel
Water exists in soil due to which type of bond?

25. | A. | lonic bond B. | Covalent bond
C. | Hydrogen bond D. | Metallic bond
What is the pH of Blood?

26. | A. | 7.23 B. |7.35
C. |17.00 D. |7.45
Which device is known as storage cell ?

27. | A. | Primary B. | Secondary
C. | Drycell D. | All of the above
Alcohol and petrol blend is known as

28. | A. | Power alcohol B. | Propyl alcohol
C. | Butyl alcohol D. | Methyl alcohol
PVC is made from which monomer ?

29. | A. CHz CHz B. CHz_CH Cl
C. | CH,=CCl, D. | CHCI=CHCI

30. | LPG can easily converted in form.
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A. | Liquid B. | Gaseous
C. | Solid D. | None
The rate of change of viscosity of a liquid with changing temperature is known as
31. | A. | Viscosity B. | Saponification number
C. | Viscosity index D. | Acid value
Which solution reserves the acidity or alkalinity of the solution?
32. |A. | pH B. | Buffer solution
C. | lonic solution D. | Basic solution
Which type of metallic structure exists in copper?
33. |A. | FCC B. | BCC
C. | HCP D. | None
Calorific value of solid & liquid fuel can determined by which apparatus ?
34. | A. | pH meter B. | Pensky marten
C. | Viscometer D. | Bomb calorimeter
Which is not suitable for insulating material ?
35. | A. | Cheap B. | Fire proof
C. | Corrosive D. | Low density
Lignite, Bituminous , and anthracite are the types of ...............
36. | A. | Petroleum B. | Coal
C. | Silica D. | Glass
Which polymer is used in tyre and footwear industry ?
37. | A. | Buna-S B. | Buna-N
C. | Vulcanise rubber D. | Natural rubber
In refining of petroleum the last portion of fuel burns instantaneously, which causes
38 shock wave to be set up is called.............
" | A. | Knocking B. | Bio-diesel
C. | Calorific value® D | None
In which process , oil is separated in to various useful fractions by fractional
39 distillation and converted in to a product.
" | A. | Catalysis B. | Refining of crude oil
C. | Refining of copper D. | Lubrication
Cell potential of dry cell is volt.
40. |A. |0 B. |1
C. |15 D. |25
The substance which can accelerate the rate of reaction thst is known as..............
41. | A. | catalyst B. | Lubricants
C. | Insulating material D. | All of these
What is the value of ionic equilibrium constant of water at 25° C temperature?
42. A | Kw=10" B. [Kw=10"
C. |Kw=10" D. [Kw=10'
Which one is Isoprene ?
43. | A CHZZCHZ B. CFz-CFz
C. CHZZC:CHz-CHg D. CHZZC-CH:CHZ
Which type of structure exists in CoH, ?
44. | A. | lonic bond B. | Covalent bond
C. | Co-ordinate covalent bond D. | Metallic bond
The force of attraction exerted on the bonding electron by the atom that is known as.....
45. | A. | Inductive effect B. | electronegativity
C. | Electronaffinity D. | None of these
In which type of reaction reactants and catalyst are in same phase?
46. | A. | Heterogeneous catalysis B. | Intermediate theory
C. | Adsorption theory D. | Homogeneous catalysis
What is called the mixture of water and oil ?
47. | A. | Saponification number B. | Emulsion
C. | Acid value D. | Viscosity
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The process of heating rubber with sulphur is known as

48. | A. | Galvanisation B. | Sulphonation
C. | Vulcanisation D. | Emulsification
Which of the following is an example of lonic solid?
49. | A. | Diamond B. | Quartz
C. | NaCl D. | Graphite
Ni— Cd battery is type of cell ?
50. | A. | Primary B. | Secondary
C. | Dry D. | None
In photovoltaic cell which type of energy is converted into electrical ?
51. | A. | Solar B. | Chemical
C. | Kinetic D. | None
What is monomer of natural rubber ?
52. | A. | Ethylene B. | Propelene
C. | Isoprene D. | Choloroprene
Which polymer is not obtain by additional polymerisation ?
53. | A. | Polystyrene B. | Nylon-66
C. | Polypropene D. | PVC
From the following which is weak electrolyte?
54. | A. | HNO; B. | H,SO4
C. |HCL D. | NH,OH
What will be the effect of catalysis on equilibrium constant?
55. | A. | Increases B. | Decreases
C. | Remains constant D. | None of these
The process of cementation using zink as coating material on screw and other small
56 parts of metal, is known as.....
" | A. | Metal cladding B. | Sheradizing
C. | Spraying D. | None of these
If the temperature increases , the conductivity of electrolytes ?
o57. | A. | Increases B. | Decreases
C. | Remains constant D. | None of these
From the following which method is not used for pH measurement?
58. | A. | pH meter B. | pH paper
C. | Colourometry D. | All of these
What is function of electrochemical cell?
59 A. | Electrical energy to chemical B. | Chemical energy to electrical energy
' energy
C. |BothA&B D. | None
During discharge of lead storage battery the concentration of H,SO,4
60. | A. | Increases B. | Decreases
C. | Remains constant D. | None
Which type of lubrication is provided in case of delicate and light machines ?
61. | A. | Boundry lubrication B. | Hydrodynamic lubrication
C. | Homogeneous D. | Heterogeneous
Which type of the following is used in Nylon-66 ?
62. | A. | Adipic acid B. | Styrene
C. | Ethyne D. | Ethane
Flash & fire point of lubricating oil is determined by which appratus
63. | A. | pH meter B. | Pensky marten
C. | Viscometer D. | Bomb calorimeter
Which is the monomer of Orlon
64. | A. | Vinylcholoride B. | Styrene
C. | Vinylcynide D. | Butadiene
65 What is equation of faraday’s first law ?
A [m=zXcXt |B. | Zi/Z,=Ei/E,
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C. | Mym;=24/2, | D. | None of these
Which is the example of co-polymer?
66. | A. | Buna-s B. | Teflon
C. |PVC D. | Polypropylene
Calculate the pH of 0.001 m H,SO, solution.
67. | A. [3.6990 B. [3.3010
C. |2.6990 D. [2.3010
Which solution is used in standard hydrogen electrode ?
68. | A. | 1 mCuSQOq, B. | 1mHCI
C. Im HzSO4 D. Im ZnC|2
F,C = CF, is a monomer of which substance ?
69. | A. | Teflon B. | Nylon-66
C. | Buna-N D. | Styrene
From the following which is not suitable properly for lubricants ?
70. | A. | Anti corrosive B. | Good oiliness
C. | High load carrying capacity D. | None of these
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